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‘ SUIVIlVIATIVE ASSESSIVIENT - | - 2023 - 2024
MATIITMATICS
(English & Telugu Medlum)

- . PART - A & B o ,
CClass:VII] . (Max. Marks.: 80) - [ Time : 2.45 Mnts.

Instructions :
1. Question paper contains 2 parts (P'lr( A & B)
‘ BT JGos® (erio. - o, ) Goks D@00,

{2.Part - A & B should be given at the begmnmg of the exam only.
1 HOE @*’602;50&3‘3 oo = o & & grfo - 5 HHG BrE aégzacéoeaoo@ '
3.15 minutes are allotted for reading. The questlon paper (Part A& B) in

~ addition to 2.30 hours. for writing, the answers."

@%303@5:630 (e>tfo D) &L 5)) ﬁ&oé)gﬁéw“()é 15" Q.e0, aa;mawo 0705 @08
- 2.30 Qo (oa’)ooiao ~:ﬁ:oéoocwéfb '
" 4.Part-A answers ‘should be wrltten in'a separate answer book. Write the
answers to the: questlons under Part—B on the question paper itself.
20 - 5t @'ile’g" <oa’)3°z;5°a°oa coémmé a@éoé‘ﬁ oleve il
. grlo B &S @HE, oércs"&r"eao &2&?(5"56@@90&5‘3 oSO,
5. There are three Sectlons in Part - A :
&y~ &° Baeko” oé:éo ﬁoérooo ot
6. Answer all the questlons el
o) @@@& P mel c"oﬁra e i
7. Every answer should be v1s1ble and leglble
- dSrerso Synom, ‘®go @o’fbg@ o*’oﬁré’) :
- 8. There is an mternal ch01ce in Sectmn 111
;oéS -3 :6?@33 @oéﬁdé Qooas' ctvoéwo&

_Marks‘.60]m i Tl 'PART-A ~~* . [Time:2Hrs.
o .. . SECTION -1 : . ,
Note : 1) Answer ALL the questlons
| & 8o es&)l @%leaéo 23200 T d50s.
2) Each questlon carries 2 Marks. ;
@635&_5330&0 BT830, Wiy ; 4x2=8
1. Writea palr of negative mtegels whose dlfference gives 8.
- Beo 8 e amemgrdoongo 888 07008,
2. Solve 5p +5=207
5p+5 =20 Botsod ‘
3. The 51de of an equilateral triangle is 3.5 cm. Find its perimeter?
'~co:éaarm@’92;bz, e;imo 3.5 ®o. 20! @ooazs Q) oS odto EoirSod.
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9. Find the value of x 1’n each
~* of the adjacent ﬁgures 1108 (f

2

4 A batsman scored the following number of runs in51i 1nn1ngs
28 ergemS pt adoROSt 53@:5 Bt domg (8ol FKcBSB.
36, 35, 50, 55, 60 : e

Calculate the mean runs scored by him in innings ? _
aOMOS® Sk BOS DK Bifgds BE,0u0d ?
SECTION - II
i) Answer all the questions.
% Bod @) @‘ra'l@éo 3TN T°0Hok.
- ii) Each problem carries 4 Marks. 43 :
D8 BHH 4 Srdyp 0. L vk 5x4= 20

..In a class of 25 students; 15 are girls and the. rest are boys What is
- the percéntage of boys and girls.?

28 SEKBSA 25 Hood Dwséoe;e’iﬁﬂs 5::0& ea"’é’)éoo Z)oﬁ@”md)
2P0 ORI wrend $0805%0 a:r@éo a*éo 20es ?

. Saili plants 4 saphngs in a row, in‘her garden The dlstance between

two adjacent saplings is i m. Fmd the dlstance between the first and -
the last sapling? =~ o0 A
30 85 SLSt o aScSooeS‘ 4 Baoéb a"éﬁo& @éb@ézﬁ ﬁé@l Dok

g0 SotgErdo 2 f'.b @ooaa 2068 S0 D50 I e HEETTY

oS0 7

. Write the followmg statements in the ifbrm of equatlons
& Bod @5'&5{3"0563 cof(.b§5ea cisvo)oe'i‘ @o&oé i

X 8§ Hoxceso Bé.;o a’)oao:iw 11 €.> cﬁooézr Eboéo 32 A
ii) If you subtract 5 from 6 tlmes of a number you get .
2.8 coozog o3ao§2, 6 Bé.a :630&’9 59 ?So étoétoiéog)céa 7 é@oo&

iii) One fourth of m is 3 rnore than 7

‘m o’:'méb J"egé erifo @3& 7 goé3 3‘ Qsﬂ:zré
iv) One third of a number plus 5is 8. : :
2.8 Hogg. o3.x>§2r SoS - arrPX)é 58 RS Jogso 8 @Ibéa

. Prove that (- 15) x [(- N+ = DI = 1) x T + (=15 x(=1)

15 x[(=7) + (— D] =(-15) x (— 7) + (- 15) X1

) AEFHooH.

00(7\ (7\
- ol ASOO /
>m ¢

if 1 // m. ‘
l//m@ooaé@éb il /\x

D8 Hreos®d ¢ . m ¢ b
X 30326:63 é:ﬁog‘z’o& i Z L ‘3‘%'%?] Z ) J—\)
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SECTION-TI A SR

: i)‘;‘An‘SWer all the questlons. .

) @%loéa BT @‘oﬁ:o&
“) Choose any one from each question. |
woégé QoDE o euﬁ‘zrézr ©H S ea’maréo aa’ogo&

lll) Each question carrles 8 marks

10 a)

, @8 @%‘léa 8:63'633,00 g7 i B fany T 32
Inaclass of 40 students ? of the total number of students like to study
Enghsh L of the total&,number hke to study Science, % of the total

" number llke ‘to ‘study Soctal and the remalmng students hke to study

A Mathemahcs, )

,aoé édﬁé’é@‘ 40;"6305{&)65"86803&5363 T;b::éo Z)D“’gdae: @omgé‘ 25
,-_\wr\éoéo eao(ﬁéoa ﬁdéw&)é QHDEE 0, Boodo- coozogé‘" Ly 50&:
S 5@*’5?265?(30 BESEOE 9 acse‘?da P aomgeﬁ" 88’3 50&“%3 o

Vil Cits) o zﬁCS&’JC@‘@@ aoi 6"(53’

:6360533 :)oﬂé’):é f()cs*’gdge:o ﬁeﬁéo iSCSéc;‘K)?; i

‘ ts like to study%‘Enghsh‘? i
‘ o‘((.;S;a‘%ﬁpSéts‘&)é 28 c&:eﬁa:)_&: ?

g ;' 11)‘How many students;hke to'study < Science: 9.

o 111) How many students like tost

D *f
W How much dlstance wrll it cover in 10 llters of petrol" 11) How many

o 508 DTFEL. @aﬁr&ga‘oo zﬁcSascr&)?, at.’at.’acsoeﬁmgoo ?
ud Social 2

o)oé ;’wo& a’)w"gdgw it*oqwéa‘go r;SCS&SG"&')é a écédéoagdo ?

otal ni be'*of students l1ke to study |

‘ Ty (Or)/ . _
1)A two-wheeler covers a dtstance of 110 6 k m. in 2 llters of petrol

@ llters of petrol are requrred to travel a distance of 221.2 km.

i) BeusE .;rm:so 2. @eocs o@S‘wé‘ 110.6 8.50. &80 393 10 d08

s a@"wé‘ Dod c$3°c50 3'3%60& 2 11) 221 2 8, ib c&rdo @oﬁreiioiiaéo& ‘

e

) Moh1n1 scores

- «DX)J dg o)LéS‘oo ©5580 ?

Ina class test (+ 3) marks are grven for every correct answer and (— 2)
marks are g1ven for every incorrect answer and no marks for not

n ' fattemptmg any questlons 1)1 Radhlka scored 20 marks, if she has got
e 12 correct answers, how many questrons has she attempted incorrectly?

_5 marks in this test, through she has got 7 correct.

nSWers, How many questlons has she attempted incorrectly ? -
e [Turn Over
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125:a)
' - 6, 15, 120, 50, 100, 80, 10,-15,.8, 10,15 Find mean, mode and

10

4

o HOES', (50 KBS BEPEFTB (+3) S5m0, 50805 (HB-FLJE0
| (-2) SeEype 08050 645650 0705 788 0 HEER
aigdsron. 1) 5°pE 20 B3ty o0 FoBod. @) 12 BB HIrGT

_b)

RIS, Q) @HOS Sy S8rerTe o067 i) 3w (=)
S8 e0 Fobod. @R 7 B ddrerared TGS, Q) BHOL
Ehy SR erTTed ovheB.?. by '

| _ (Or) , S,

An elevator descends into a mine shaft at the rate of 6mi / min. If the

~descent starts from 10 m above the ground level, how long will it

take to reach —350m? = 1

&8 D@ééo‘g'ﬁ@ef@é,aboav&)lé 6 b0 Btfos* BI5$08. @a':so

| Soig0 %008 10 0. T 308 ObHFS 350 Do. B JoB BHH0

The runs scored in a cricket match by 11 pIaye;rs is as follows:

" mediar of this data. Are the three same?

| ES8 S3giS® 115008 eséorrel) BRS HEHK0 (80H aédmjaagoaa,

8, 15, 120, 50, 100, 80,10, 15,:8, 10, 15.4.1

D

“Find the whole quantity if -

& Berodo B, HifEs, e SBa%e Hodgrdo g5orS508. ©D
Sortho a8 ST 7 e s, T
O

v

& (808 T8S* Indo 50 5erd) §5T 508,

i)5%ofitis600 . . - D) 12% of it is Rs. 1080 .
5% Dend 600 wonod . 12% deod & 1080 ®ond
© 1ii) 40% of itis 500km, . "1V) 70% of it is 14 minutes

‘Solve the following questions.
& (808 dDogderod FHoTod.

1 40% Do0 500 8.20. ©o»3B © 70% Do0d 14 doiTen @oB
- 13. ) | g

| a)"4.;'_(m‘+_3) SR T "b)}z(%<+3)'¥ 8

f 'b)

o s o (OD) T
Find the values of the unknowns X and y in the following' diagrams.
8od Hirost BO0%Q X L0000 Y Dendol EoirSod.

i1) 50 111)
60° VIY
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' SUMMATIVE ASSESSMENT - | . 2023 2024
' MATHEMATICS
(Engllsh & Telugu Medlum)
i | Chi, PART-B i S
g : Class:VII] | (Max M‘ll‘ks 20) s s [ Time : % Hr.

| TR oy T T [ Grade| Grade |
‘as1, | US| ARl | s, assiei] Srade

CE Nt o R e N O B | g 57-63 = B1
Q.No-|1-2{5| 10-11 ‘14.—21‘ 6[12 ;22-25\ 7126-29 3-4/8|30-33/9 13| Total ‘:?'ig?’gf
;EMarks SN Rt R L } ol I Rt e W S ",_ w1 28-32=01
| Total " o ] R R R ke [ ) 03727 = D2

Name of thestudent s RollNumber

Note : i . Answer all the questlons in Part-B*\ & ‘_;1:_' i
i) Each questlon has 4 optlons erte the capltal letter lndlcatlng ‘.
o the answer in the. glven brackets "; sl R
L) @%léo 4 aTww S0, ar‘D‘)é @J‘Eés‘ &326 ‘oér@éa’mé:
- Srdot woff e¥65n @b, i T
- iii) 'Marks are not. awarded for over wrltmg answers Bk o
_’S‘(’BES && @‘o:é ma'a»enéo aﬁr&&@ aégaocéa’g) ‘

iv)  Each questlon carrles 1 mark OSADERE :
@8 @%3_&1.53“&2, S 20X 1 =120

14. ' HxCHxE 3)x0—¥1/f.'§-"-'7 s R S B
‘ A)6 G By—6 Ay - D)-123 |
18 d G5 SR T R ey

.' A)Z B)+ 8 . “C)“_’Q‘»» o D) i

b " [Turn Over
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QiAo e el
] 1’6f.j“F0r any mtegera what is the value of 1 xaequal 020 1T L 1
- Qrdcooaag a ©od, 1X aé’)e:oé 650§ o;’m.‘éo g A '

'*#\~A>;a' | Bya 't C) 0 D)All
YRR L b R T
17 ‘\{.Fmd the solution of thlS linear equatlon sz- =5 \‘ i /,'] 3
=50 '6833053 toi’)aédea 51"(5553 é:éaﬁ“éa;’m
A) 5. L0 BTN OISt i D) 50
~18. Write equation for the followmg statentent"add 4 to e1gth t1mes, ;
anumberyou get60" i Bl : & ]

& Léoa @35::5:63’)33:65% (oboédeaésaéo @‘oﬁoo& “2.8 coong B0,
pEEEy 'sae.m 4% &"ééoacéo 60 :maoa j s o
' i A)4k+8 60 B)8k+4 60 C)4+k 60 D)8+k 60
19 Every day, Ramu eats —-th of an apple How much of an apple
" will b he have eaten 1n4 days ‘ ;g sl '1”7" il Bigy [' i

B8 e c"fm aSoeJ esaef aoérc&) @ééa 4 6°a3°e5° .Doé eaﬁ

é’éoéa‘c&: 9 gt ity ‘
. ‘A) 32 v B) 32 C) 8 D)%
"~ 20. When the sum of the two angles 1s 90 the angles | /
g ~ arecalled | i e e i [ ]
; R et 3otk §‘ear’e> Jdogo 90 @oao:é ea §‘ea‘e>:éo _;_@oérda ;
51_'/' " A)Complementary  B) Supplementary '
e g ‘cOOQj'ég '
4 . C)Linear pair ‘. il 14D Conjugate
LA e 3@0-53 Il ooo‘SoJﬁ&
z A_ ik 21 Mode of the'data 1,2,3,‘4,5’is ‘ . . w v 1
W 1,2,314)5 Saodo S, erodsin » -
o ’ A) 1 4B)S - (‘ C) No mode D)0 i
A e e A e
| [ Contd... 3rd
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122, _Wthh of the followmg does not commutat1ve under subtract10n'7 Frives ciinrt] ""
- ot TES AREIR LS coégoéd (:)&)530‘53) (50"&,@4 0% 7. e

: A) Natural numbers ,' B B) Whole numbers |

fli SFA) oomgw Q)‘O“’OS‘OJ 0
C)Integer SR D) All
A ogy’daoaage;o aa’)gh .
| *23.".Whrch of the value g1ven below 1sasolut10n ofn+5= 19" il it 7Y 9
(808 aéogea&é Z)e.na’weS‘ ae n+5 =19 o?boéz, 25 @@@05 1
CHACAYT S B) 2410, 09 - D14 |
| 24.:‘ Fmdthe supplementary angleof 100 “ : l“'"‘, : .-., "’[ , Jis
i 11000 oeaogz, S0 §‘eao:63 g;s:ﬁ":soe Lt g
A)'80% Vi eBY; 90° C) 180 D) 260°
i ;9"2-5:."Therecrprocalof aproperfract1on is A e [~ ]
“:j‘vr“Léa’)a 926010 cﬁaoézya’a@éz,a’wo fany |
i A) Proper fractron i g B) Improper fract1on
e Léé:i)éio “ i @ooLééoi)ESJo
b C) Always less than 1 - D) Always greater than 2.
‘ oqu@ 1 508 é&b‘{: gy 2 S08 28y,
‘ 26 'Fmd the mean of the first ﬁve whole number" " PR | 1
| B00658 06 ogj"o‘os‘o (or{é.ao ?. ! ” i d
AYO By 2 04 - D)5
i 27. Inthe ad]ommg ﬁgure 1dent1fy the parr of correspondmg
. angles? R T [ ]
. @éz,o)éooeb“ «oCSQrB’g Somiiy foBoiS0B. 4 AT i |
N P e 21 T W |
115C), 351 et - 5. il ot g
DAL I e R O
’ aéfb; 3‘{(’?.' ‘ 7/ ‘. - [ Turn Over
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! 28 ‘Raju’s father’s age is 5 years more than three times Ra_]l S age
| - find Raju’s age if his father is 44 years old 2in s, ik e TG ["
' 0 Toer So(@ SodY, TR ;60.“1:@(3:6& 30 $08 5 @oée‘ﬁ‘\)mm :
i ob§oz,;$ ore So|d :6053:09\) 44 «ooééé‘\)c"e}o @ooaesog)éo oo éoﬁam‘\) i
B ey 50 0 By13 ,c>’15 TR RO
| 201" Right angle=__ /it o il s GG L Tl
; @oeog‘mok# : s ] Rl " A
Ay B IR Q00 A Dy 270%

- 30. Asha has 8 chocolates She grves —of there to her frrend How many
8 chocolatesrsleftbyher? N RN S R S [

o 55 808t s, 786 Lsoss o e‘§:6 (oclo:)‘éao"é’)é ;
aaa;se o 3G QK)Q T°3e0 é’bﬁé) ﬁm:yooo 7 ] i
A2 - | B4 C)6 . D)32

3 31. Sum of the lengths of any two srdes of atrrangle 1s “the: .
Iengthofthethrrds1de TR e N ',. " o ‘7.[A
28 @aﬁmo 63335?: o)aar Bocéa eﬁoes*o a»e@e Baoéo :mvcs;s e;Saeeo
@é@ éoé L e e 2;,;‘ o
A) Less‘than s "-B")'Equ_al‘u_ i i

g IR el R
C) Greater than - fal D) No relationjhetweenthem b
Q&bé Sy L . S o“)oqﬁg ooaaodSo E'icsa
f AN Convertthe decrmalO 75 mtopercent : .;:; UL [
A ’ . L .0.75 @:éo da‘oar&havéom 5?6()0& Sy ( : .
]} : il A) 17‘-0-_ 7 B) -1—65 fir C)075% | DD) None

_ : ' ves 2B
' 33.. The mode of number of days of all months in’ ayear ' . Ea
‘ &8 :ooéé;o)does‘&) @K)J anoes‘ K 5‘e3=e> coomg o‘bas‘b amm@’éo ‘
: AY3T ML Bya0l 1 10)28  aD)29 .

e ———@OE——— Tt

N

L ) e aA e adD Al i mmma i i Al A e



SUMMATIVE ASSESSMENT -1-2023-24
VII CLASS-MATHEMATICS-solutions
Prepared By: Balabhadra suresh

1. Write a pair of negative integers whose difference gives 8.
Sol: (=5)—-(-13) =-5+13=8 or (-10)—(-18)=-10+18=18
2. Solve 5p+5=20
Sol:5p +5 =20
5p=20-5

5p =15
p:—:3

3. The side of an equilateral triangle is 3.5 cm. Find its perimeter?

Sol: The perimetyer of the equilateral triangle = 3 X side =3 X 3.5cm = 10.5cm

4. A bats men scored the following number of runs in 5 innings: 36,35,50,55,60 calculate the mean

runs scored by him in innings?

Sum of all observations _ 36 +35+ 50+ 46 +60+55 _ 282

— =47
number of observations 6 6

Sol: Mean =

5. In aclass of 25 students ,15 are girls and rest are boys. What is the percentage of boys and girls?

Sol: Number of children=25, girls=15, boys=25-15=10

10
Percentage of boys = 55 X 100% = 10 X 4% = 40%

15
Percentage of girls = 50 X 100% = 15 % 4% = 60%

6. Saili plants 4 saplings in a row, in her garden. The distance between two adjacent saplings is %

m. Find the distance between the first and the last sapling.

Sol: The distance between two adjacent saplings = Zm

Total number of saplings=4

3 1
The distance between the first and the last sapling = 3 X Zm = Zm = ZZm

7. Write the following statements in the form of questions
i) The sum of three times x and 11 is 32
ii) If you subtract 5 from 6 times of a number, you get 7.
iii) One fourth of m is 3 more than 7.
iv) One third of a number plus 5 is 8.




Sol:i) 3x + 11 = 32

iiypem—-5=7

iii) Let the number = m
m
The equation is T 7=3

iv) Letthe number = n

n
The equation is 3 £5H=8

8. Prove (-15)x[(-7)+(-1)]=(-15)%(-7)+(-15)x(-1)

Sol:LHS = (-15) x [(-7) + (-1)] = (—15) X (=8) = 120

9.

RHS = (-15) x (-7) + (-15) x (-1) = 105+ 15 = 120
LHS = RHS

Find the value of x in each of the following figures if [ || m.

Sol: (i) y = 110°(Corresponding angles)

10.

2 ;
a) In a class of 40 students = of the total number of students like to study

Sol:

x +110° = 180° /
x = 180° — 110° A

x =700

x+y= 180°(Linear pair) 11||{/

A

>m

(ii) x = 100°( Corresponding angles)

. 1 . . 1
English, - of the total number like to study Science = of the total

number like to study Social and remaining students like to study

mathematics. (i) How many students like to study English? (ii) How
many students like to study Science? (iii) How many students like to study Social?

iv)What fraction of the total number of students likes to study Maths?

Total number of students = 40.

2 2
(i)Number of students like to study English = T of 40 = < x40=2%x8=16

1 1
(ii)Number of students like to study Science = 7 of 40 = 1 x40=1x10=10

1 1
(iii)Number of students like to study Social = g of 40 = g x40=1x%x5=5

(iii)Number of students like to study Maths = 40 — (16 + 10 +5) =40—-31=9




16 2

(iv)The fraction of the total number of students likes to study Maths = 0°-¢

b) i) A two-wheeler covers a distance of 55.3 km in one litre of petrol. How much distance will it cover
in 10 litres of petrol? ii) How many liters of petrol are required to travel a distance of 221.2 km.

Sol: i)The distance covers by a two wheeler in 1 litre of petrol=55.3 km

The distance covers by a two wheeler in 10 litre of petrol=10%55.3 km=553 km

ii) Petrol ired for 1 km = ——1

ii) Petrol required for 1 km T3

Begiral A G _221.2_2212_4l
etrole required for 2km=—cor = o=

11. a) In a class test (+ 3) marks are given for every correct answer and (—2) marks are given for every
incorrect answer and no marks for not attempting any question. (i) Radhika scored 20 marks. If she
has got 12 correct answers, how many questions has she attempted incorrectly? (ii) Mohini scores —
5 marks in this test, though she has got 7 correct answers. How many questions has she attempted

incorrectly?
Sol: Marks for 1 correct answer = +3, Marks for 1 incorrect answer = —2
Marks for not attempting=0
(i) Marks for 12 correct answers=12x3=36
Radhika scored 20 marks
Marks for incorrect answers = 20 — 36 = —16
Number of incorrect answers = (—16) ~ (—=2) =8
(ii) Marks for 7 correct answers=7x3=21
Mohini scores =-5
Marks for incorrect answers = =5 — 21 = —26
Number of incorrect answers = (—26) + (—2) = 13
Mohini attempted 13 questions incorrectly.

b) An elevator descends into a mine shaft at the rate of 6 m/min. If the descent starts from 10 m above

the ground level, how long will it take to reach — 350 m.
Sol: Time taken to elevator descends of 6 m= 1 min
Total distance covered by elevator = 10 — (—350) = 10 + 350 = 360 m

Time taken to elevator descends 360m = 360 +~ 6 = 60 min = 1 hour

12. a)The runs scored in a cricket match by 11 players is as follows:




6,15, 120, 50, 100, 80, 10, 15, 8, 10, 15 Find the mean, mode and median of this data. Are the three

same?
Sum of all observations
Sol: Mean = -
number of observations
_6+15+120+50+100+80+10+15+8+10+15_429_39
— ==
Mean = 39

Arranging the scores in ascending order: 6,8,10,15,15,15,50,80,100,120.

The score 15 occurs most frequently

Mode=15

Number of observations=11

Median=Middle most observation=6t observation=15

No, the three are not same.

b) Find the whole quantity if
(i) 5% of it is 600.

Sol: 5% of x = 600

5
— X x =600
100

600 x 100
X=T=600X20= 12000

(ii) 12% of it is X 1080.

Sol:12% of x = 1080

12
— X x =1080
100

1080 x 100
X=T=90X100=9000

13.

a) Solve the following questions
a) 4(m+3)=18 b)-2(x+3)=8
Sol:a)4(m + 3) = 18

PP
mETs=7

(iii) 40% of it is 500 km.

Sol:40% of x = 500 km

40
— X x =500km
100

500 x 100
x=T=250><5=1250km

(iv) 70% of it is 14 minutes.

Sol: 70% of x = 14 minutes

70
—— X x = 14 minutes
100
14 x 100
X =T= 2 X 10 = 20 minutes




b)—2(x+3)=8

PR
Rre=

(i) y+120° = 180°(Linear pair)
y = 180° — 120° = 60°
x + 50% = 120°(Exterior angle property)
x = 120° — 50° = 70°

(ii) x = 50° + 60° (Exterior angle property)
x = 110°
x +y = 180°(Linear pair)
110° + y = 180°
y =180° — 110°
y =70°
(iii) y = 80°(Vertically opposite angles)
x +y + 50° = 180°(Angle sum property of triangle)
x + 80° +50° = 180°
x + 130° = 180°
x =180° — 130° = 50°
(iv) y = 90°( Vetically opposite angles)

x + x + y = 180°(Angle sum property of triangle)




2x +90° = 180°
2x = 180° —90°

2x =90°

= =450
S

https://sureshmathsmaterial.com/




